Rul i G =

U N D RS

211

1A T KE B R E

|-
L

T T [X

anji
Xd

o

a7 =
=2

e (83 |

.
.

(A4 :
3.450 2230r663.466

211008
Iy
I

rg

)
HIZ

212017

(7_23)

434,

211

222
223 211 200
224 212 201

Jl

Ll

oE5vThk—IL

185 HR—IL

25T 2hk—IL

3F/5TTHR—I)L

45T k—)L

w182 hk—IL—60x%x90

2B R—IL——120%x90

MmaOE<tk—IL

(HE2 0 c mHR2)

MhaAOFE< HR—IL

(RTE25 cmHAR)

MAOFE< HR—IL

(RE3 0 cmA#)

NaOE<vw HR—IL

(HNE3 5 cmHAR)

NraOER<w HR—IL

(HE4 0 cmHAR)

MhAOFE< HR—IL

(RE4 5 cmHAR)

MhaAOFE< HR—IL

(RES5 0 cmA#)

MAOFE< HR—IL

(R®E5 5 cmA#)

NaOE<vw HR—IL

(HEG6 0 c mHAR2)

NraOER<v HR—IL

(HNEG6 5 cmHAR)

MAOFE< HR—IL

(RETE7 0 cmHAR)

MhAOFE< HR—IL

(RTE7 5 cmHAR)

NaAOERv HR—IL

(HES8 0 c mHAR)

NaOE<vw HR—IL

(HES8 5 c mHAR2)

DK< R—IL

KE#L~<=—IL

BEE<ork—IL

elof(ejo|e|0|e|e|D®OC|OO|O|O|O|0|0|0|0|60|0|0|0|0|®|0|@0|0|@®|©

< hR—IL

“HFET

ERRFAEKET

BIKET

ERRFASEKET

ERNARMRKET

HEFT

KiERFET

B R T
12-70-1

~ ~

> Lk T >

AU X i s
A I = S ¢ Bl + 5 M
LHEL W ORE M A i L
il N HiE ) T =
o (199 280 HP 21.3%010.‘35 (1.40) =

- @

— 49. 367 - 49. 147 )
2 4 eI $ =
7+ - [ J T 7
7 i T oo N B 7t 7
+ F/,' < ’F/,' +
:]y rj,@ E:EE ]/




